F1 - Miroir Oues

IMPOSE

3[116] - Arbre
4 [117] - Arbre

1 [114] - Angle cléture
2 [115] - Extrémité allée

5[118] - Lampadaire

t-Est

PASSAGE

OBLIGATOIRE \A

B - Shaker

141 - Arbre

142 - Lampadaire
143 - Arbre

144 - Lampadaire
145 - Arbre

146 - Arbre

147 - Angle cléture
148 - Lampadaire
149 - Arbre

150 - Arbre

IMPOSE

F2 - Double miroir

6 [119] - Arbre
7 [120] - Arbre
8 [121] - Arbre
9 [122] - Arbre
10[123] - Arbre
11[124] - Lampadaire
12[125] - Arbre
13[126] - Banc
14 [127] - Arbre

\15 [128] - Lampadaire

101

106
107

109

111
112

C - Libre + Jumelées

: Rocher
102:
103:
104 :
105:
: Arbre remarquable
: Jonction sentiers

108:
: Arbre
110:

Pied escalier
Souche

Objet particulier
Cléture

Coude sentier

Extrémité abrupt terre

: Banc
: Objet particulier
113:

Objet particulier
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31 -Table

IMPOSE 32 -Table

34 - Arbre

33 -Buisson

35 - Escalier
(en haut)

A - Mémo

36 - Escalier (coude)
37 - Escalier (en bas)
38 - Angle cléture
39 - Angle cléture
40 - Angle cléture

EQUIPES
IMPAIRES

Echelle: 1/ 5500

E - Ordre imposé

1[129] - Arbre

2[130] - Arbre

3 [131] - Angle haie

4 [132] - Angle cléture
5[133] - Arbre

6 [134] - Lampadaire

7 [135] - Arbre

8 [132] - Angle cléture
9 [136] - Lampadaire
10 [137] - Lampadaire
11[138] - Au centre ...
12 [139] - Lampadaire
13 [132] - Angle cléture
14 [140] - Arbre

OBLIGATOIRE

D - Orient’
Show
TEMPS x 2

1[201]
2[202]
3[203]
4 [204]
5 [205]
6 [206]
7 [207]
8 [208]
9 [209]
10[210]

11[211]
12 [212]
13[213]
14 [214]
15[215]
16 [216]
17 [217]
18 [218]
19[219]
20 [220]
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